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7. The security market line depicts: = (A) A security’s e}cpected return as a

function of its systematic risk. (B) The market portfolio as the optimal

portfolio of risky securities. (C) The relationship between a security’s return
- and the return on an index. (D) The complete portfolio as a combination of
. the market portfolio and the risk-free asset.

8. Consider two bonds (face values both are 1000), each with a two-year time
to maturity and annual coupon payments. Bond X has a 3% coupon; bond Y a
12% coupon. One year spot rate is 8%, and two-year forward rate is 10%.

Please calculate the market prices of bond X and Y. (A) X= 89478 Y=

1053.87 (B) X=1053.87 Y=894.78 (C) X=1060 Y=1120 (D) X=1060.9
=12544 (E) X=1254.4 Y=1060.9 |

9. The 10-year annual annuity with a yield of 8%, the duration of this bond is,
(A)4.87 years (B)6.32years (C)7.64years (D)9.25years (E)10 years

10. If XYZ company’s dividends were trending upward at a stable growth rate
0.05, and the most recently paid dividend was 3.81, the market capitalization
rate is 12%, please calculate the intrinsic value of a share of XYZ, (A) 54.14
(B)55.14 (C)56.14 (D)57.14 (E) 58.14

BRIy MFLA (845 #:4205)
1. Herding Effect on IPOs
2. Equity Risk Premium
3. Stock Split
4. Bid-Ask Spread
5. Treasury-Eurodollar Spread ( TED. Spread)
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